FRIETE

v =T —

TV-400 (ATC20)

2.2 TV-400
TV-400 (124 —)) TV-400 (203 — L)

% X&@$BEE (mm) 550
E;}J Y&#BEHE (mm) 400420
2| zmene (mm) 300 350
7|" K& (mm) 700X 400
7| mrmmEE (kg) 200
x| T#EEERE (min-1) 10000 [15000]
& | T#F—5K - 7/24 No.30
% | EXVEE  (mm/min) 48000
o | OHIEDEE  (mm/min) 12000,
BE| varxy % (mm/min) 0“'1260

V=T vy s BR __BT-30-
5 TVRY v FER MAS-P30T-1 (45°)
ig T B &) 12 ' i 20
A , BEIEHD ;60
g TEEKRE (mm) 80 CEETEZLL - 100
g TERAES (mm) 200

TESAEE (kg) | Skg/lk (HEE:24kg) | 3kglk (BERE : 40kg)
g FEHEE (W) 5.5/3.7 (30%/##kt) [3.7/2.2 (155/E%E) ] *1
B| 2VEHEEHE (kW) X:1.5 Y:1.5 Z:2.0
Z| mR s Gva) 20.4/12.4
)
ijJ% ZEXREE  (MPa, L/min) 0.5, 100 <ANR>*2
%
v = ~ ~ P d=) G
| 7TV oER 100/200: + 7> 3 >
= @ e
B
g BROE s (mm) 2378
2| FEREOKES  (mm) 1550 X 1855
&
x| BREE (kg) 2100

*1:ERERELF

=

BREZRDOIRE
[ WA 7Tvarv&RLET,

*2:(ANR):i&E20°C. #xIE101.3kPa {760 mmHg}. i BEE65% T 5
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